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IMPORTANT INSTRUCTIONS

This Booklet has a cover ( this page ] which should not be opened till the invigilator gives signal
to open it at the commencement of the examination. As snon as the signal Is recelved von should
tear the right side of the booklet cover carefully to open the booklet. Then proceed Lo answer the
questions.

This Question Booklet contains 200 questions,

Anawer all questions. All questions carry equal marks,

The Test Booklet {5 printed in four serfes eg. [A] [B] [ C |
page ). The candidate has to indicate In the space provided
booklet. For example, if the candidate gets series

side 2 of the Answer Sheet with Blue or Black Ink Ball po
AP o

A B
13K )
You must write your Reglster Number in the \ rovided on the top right side of this page. Lo

not write anything else on the Question
An Answer Sheet will be supplied to yo ately by the Invigilator to mark the answers. You

must write your Name, Register N other particulars on side | of the Answer Sheet
provided, fatling which your Answer Il not be evaluated.

You will also encode your Regist ber, Subject Code ete,, with Blue ur Black ink Hall point
pen In the space provided on the si¥ 2 of the Answer Sheet. If you do not encode properly or fafl
to encode the above informatiQayychir Answer Sheet will not be evaluated.

Each question comprises sponses (A, (B], (C) and (D). You are to aelect ONLY ONE correct
response and mark in swer Sheet. In case you feel that there are more than one correct
response, mark the s¢ which you consider the besl. In any case, choose ONLY ONE
. Your total marks will depend on the number of correct responses

marked by you in the ¥nswer Sheet.

In the Answer Sheet there are four brackets [A]11 B 1[ C ] and [ D | against each question, To
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your choice for
each question. Select one response for each question in the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one guestion, the answer will be treated as
wrong. eg. i for any item, (B) is the correct answer, you have to mark as follows -

[A]@IC] D]

You should not remove or tear off any sheet from this Question Booklel. You are not allowed to
take this Question Booklet and the Answer Sheet out of the Examination Hall during the
examination. After the examination 18 concluded, you must hand over your Answer Shest to the
Invigilator. You are allowed to take the Question Booklet with you only after the Examination s
over.

The sheet before the last page of the Question Beooklet can be used for Rough Work,

Fallure to comply with any of the above matrucHons will tender you lfable to such actitn or
penalty as the Commission may decide at their diseretion.

In all matters and in cases of doubt, the English Version is final.
Do not tek-mark or mark the answers in the Question Booklet.

| See Top left side of this
nawer Sheet the series of the
, he/ahe has to indicate in the
as follows ;
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1. dlelibanefet(Silicon) Hlawnrer Sl sL_smb serobses sTramb

A) oEgieolw Grry Bldagel Callu geammah

B) spamcw adli Hasor Canw gensb

C) eaEn 6LH G Gleusfl

D) . epdu &’ @ Gl Cauef.

Semiconducting property of silicon is due to

A) ils positive temperature coellicient of resistance

B) Its negative temperature coefficient of resistance

C) wide band gap

m narrow band gap.

2. g gell yelleow eubhmen w b Cryb @
A) 45 bl
C)  4plblip Q ) gﬂ]lﬂ;,_m

Light from the sun reaches the Ld.ﬂ'.h‘l\
A) 45 minute H minute

C) 4 minute Q 2 minute.
3. &Cp G&an@é&mﬂuﬁ@aﬁm-@] am Her weradlfleyn (Electric heaters)

@erodlfl Gl willgus (Iro L@teﬁ‘s_n;zg.g ?

A) L s &5t 6 oo

C) gmbgo D) en&Cymib.
Which of the fol ¢ is used in electric heaters and irons ?
A)  Tungsten B} Steel

) Copper D)  Nichrome.

4. &Qp Qer@dsiulGerer suspemsila g<m, g6 Gpmild Qeagib Kl
Caumdang semalll 2 geyFing 2

Al Gusedlr wred B}  ayuwsswre

Cl  dpe sEnadl D] Geugysfl S,

Which one of the [ollowing instruments is used lo measure the speed ol water
through a pipe 7

Al McLeod gauge B Pressure gauge

) Screw gauge D) Venturimeter .

% [ Turn over




PGKI ook

5. nlssdrusdila snyh, ahs sesrs seral iu@GSlps 1

A ACamfis (dhf) B) sl grid(d) ses
C)  gefuresnB(Light year) D) ghar S,

The distance of stars is measured by the unit

A)  kilometre (km) B]  angstrom (A) unit
C)  light year D) giga melre .

6. srifue Ganeresa(Theory of relativity) #Gp Qar@aaiuc g afl@hessihure
1905- 6o Glawr Rl L g.

A) ¢/t Bt (i B) @rnhsar
C) anlELITTE D) spereuiedT,
Theory of relativity was proposed by which one of llowing sclentsts in the
year 1905 ? O
A Rutherford B) Gﬂamsml
C) Bohr ’Elnstem :
7.  séaursopdld sewhgeten Gl gr X shd) Baaubdla, g@bam 2 aauld
o LGUTSHLLRSSHULHD seodtlime( r)
A)  #it (Hy0) B) dlgrenul

Cl  amentht (D20) \'QQ D) egepfidene.

The moderator used i 2 nuclear reactor at Madras atomic power station in

Kalpakkam Is
Al water (H B)  graphite
) heavy water (Dy0) D)} none af these .

8  GuuGur sriusr Gubestld Gedairy 2 dusdurdpg
Al erfuger UV sditser allmayflagre
B) artugy e IR sdltsear alloearyflagrd
© yhdsusisn snl ey o srévlls sdied allemeanflaugre
D) ertugi e Xeditae alomafloagrd .
Radio carbon in nature is produced as a result of
A}  the action of UV rays on ordinary carbon
B) the action of IR rays on ordinary carbon
C) the action of cosmic rays on earth’s atmospheric nitrogen

D) the acton of X-rays on ordinary carbon .
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9. gdldsn Coueb £8y OarRésiul Gerer D emsgdld adlad

Al dlpeufisen

‘Bj & \comTiorig e

C) ELIIT Iy e et

D} eeenaphblgn Cambd 8 wrdflurs Blmémin . _

The speed of sound is higher in which one of the following mediums ?

A) Liquids Bl  Solids

C) Gascs D}  Sameinall .
10, 8Gpueter ahs wrppd, semsen Seaann (Fisslon) nhpo emsem @smesoriy

(Fuston) flapeyseflar sdlsnnen Sibme Qeusfiiun. siieymre e

Al Coudl puhme Qeutiu o pnesre wrmss O&

Bl yGyrilireraer By granments wnpsd ()

C)  Hleom sédlurs orpse - pavaueaiar Y Mg g

Djf @lwukdly o &8 (Mechanieal cnergy) Qa 'Qﬁ'ﬁ.gﬂ;lu“ &(Heat energy) mgysé,

The huge amount of energy rcleasen%ﬁ)u lear fission and fusion reactions is
due to the conversion of

A) chemical energy Into Ima@
B) protons into neutlrons S'

ding to Einstein's equation

C) mass into energy,

D) mechanical en to heat energy .
11. Gerirurenn

A)  pifleveurang Bl Goilee Geramig

C smpigsnen e olug D}  slegpaein o e g,

Drinking soda is

Al neulral B} ampholeric
C)  basic D}  acidic.
: 12, dppyss sl sramivfeaus a7
Al aBureflub oy &enGa’ B] esrddluh sideuGeun
) Cl  Ourierdun oy semGa D)  Gergqubd suéenGal.
Which of the following is found in kidney stane ?
A) Ammonium oxalate B) Caleinm oxalate
C) Potassium oxalate D)  Sodium oxalale .
x« 701 [ Turn over
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13, dipsetmeuppeh Sy QI EU PHGID Uy TR

A srtue CurBemsasd B) amiudt e K5oed

C)  empLiyev R TLIC D) sdut oL &80

Which of the following is a laughing gas ?

Al Carbon monoxide B} Carbon dioxide

C)  Nitrous oxide D) Sulphur dioxide .
14. @by srordseien God HEEHTHD LFY

) sreeusarGeaye B) e wée

o) Ben apdlafiiy D) eLléM.

Coating of zinc over iron article Is known as

A) Galvanisation B) Elect@ng
C) Electrorefining D] @g

15, gEhet 0 HGurig e GremLIG o
A 2Cumgen - OQ
B) SCumggu s SGurLuTd \
C)  Gumg g e @LHLLHE;@UW@L@
D)  S@wrumb. \'Q
Tincture of iodine is .
A) Iedine Bl lodine and lodoform
C) lodine tassium lodide D} lodoform .

16. yyspded siemey suflens
A)  Guréss > LaL &5 > ayfl& B qLeL sp > Coréas > e

C) @=L &b > M8 > Quréems D) Gurées > flé > ploL &b.
The protein content is of the order

A) soyabean > egg yolk > rice B} egg yolk > soyabean > rice

C) egg yolk > rice > soyabean D) soyabean > rice > €£8 yolk .
17. &Gy GRS Getenaupmiet shlursl Qurehah Gl

A) Slreu ghisd — il

B) #yeu Ceuehaf — Glotd @

c) Eprg SyTasb — Cleueirefil

D) u&emd Gleusiref — gt
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Which one of the following is correctly matchied ?

A)  Liquid gold -— Lead
B)  Liquid silver — Mercury
C)  Agqua regia - - Silver
D) Green silver — Copper .
#C eP Qerenainpet sflurss Curmbgid e
A)  sifl — whs flever sriudr
B)  eneund — e &L &d)
C  Ayrenuc — 2MElD s
D)  douenmiflen - SETYID fHebTenin arituelr,
Which one of the following is correctly mateched ?()
A)  Charcoal - Cm@rbo
B} Diamond C.a\ tor
*C)  Graphite é&!amr
D)  Fullerene Saluhle form of carbon .
uCipué ¥ g uiliqwéds ITe sﬁ&um@gﬁl EGp Qar@ésiur Qerer @liGsmens
Llaram® sfiurer afen 5#9_@5@
uligwés I uC g IT
a) Gel QLly & 1} zesb Qeaudusrge
b dlyeu enquDL gyt 2) gt sréE srpedf)
d eoalrmér Cursmad 3)  gr&Csl eflQurger
d)  sritus e gy s 4) GCeagsésb amyem
GPldRes
a b ] d
A) 2 1 L ead 4
B) 1 3 2 4
C} 2 4 3 1
D) 2 3 4 1.

b '?OIJ
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Match List I with List II correctly and select your answer using the codes given

below :
List 1 List II
al  Lead tetraethyl 1, Global warming
b) Liguid hydrogen 2. Antiknocking agent

Rockel [uel

L

cl Hydrogen peroxide

d) Carbon dioxide 4. Bleaching agent
Codes :
a b c d
A 2 1 3 a @
B 1 2 4 O
& 2 4 3 1 ()

D 2 3 4 1. 60’

*
20. Spsmain eursflubsser seeil |

smresms (R) : Qeuchel] 2 &ad nin e b St Seamab HH

o pigl (A): Qeusiafil G\u’r@&&;‘ %J MéLEh Gumags mmenn Hinors wkgHlpg.

wrpdlpg.

v sflurer efoLous Catbs :
A) {A)ls (R} dig shiwTen smyeaorn (R)
B) (Al R

C) (A &R gyame R) geun

' siare (A &g sflumen anjeamih (R) sde

D) (A sauy HeTen (R aifl.

Consider the following statements :

Assertion (A) 1 Silver articles on exposure 1o air become black .

Reason (R} : Silver Is oxidised to silver oxide.

Now select your answer according to the coding scheme given below :

A) Both (A) and (R} are true and (R is the correct f:}q:rlﬂ_natinﬁ of (4)

B) Both [A)and (R} are true, but (R) is not the correct explanation of (A}
C) {A) Is true, but (R) is [alse

D) {A) is false, but (R} is true.

«[7o1
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21. yepmedlar Geasadfla &8y Car@ssiulfetrer ahs susmswTear GILUT(EeT
apseremnun s alleniiGEing 7
ﬂl- BlysGsn Linellesaanm) B) Qs Gemrey
C) «-D-gasGarauyBeanmeay D) Gy ageyblésman.
Which of the following is the chief component of fungal cell wall ?
Al Mucopolysaccharide B} Cellulose

C} - D - glucopyranose D) None of these.

22.  Uereumuevarsupiies e sflurat Qurmhdlysieng 7

A)  inr@G mey - Blmoa D& atdaany

B) Gp&aGlmen - ClapsComay g sany

Q) GedsyCauray - SyEmoliy @ e sal_ (& s dseny
D) @eme yemee hgyo. ()

Which of the following is correctly mmhm\.Q =

A) Maltose ~ é.)\ isaccharides

B) Fructose

C]  Cellulose QQ Structural polysaccharide

) All of these |

Hexose sugar

23. Bubesille CLDILHD QG maﬂ aeafldlés semysusy
A) e Glesmid) Bl #fle
C)  urgregdle Dl g egafidme.

Natural lipids are readily soluble in
Al oil B) water
Cl]  mercury D] none of these .
24, 2NADH; ppadeailellpha Quniu@n ATP pedsansds acnaaams
Al 3 : B) 4
C) 6 D) 1Z.
The number of ATP molecules vielded from 2NADH: molecule is
Al 3 Bl 4
C) 3] IB)| 12,

# I"?ﬂ:l._| [ Turm over
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25. dibssem_ aurddlutisaen seusi :

p_,g,r_gﬂ (A): enlyger aeitédl, auerttdleng wrhpb, wiy #Tihs LHQD
BentiGumbssile aphdu LEG cufladins.

srexnd (R): eplyss wetad Gprappee SbHADT.

&8y el @efren @fligé sfiures allem_swug Cattbisd :

A) (Ao (R) i 6. (R) g (A elbe eflurear alleréhei.

Bl (Ao (R asf. gemnd (R) eadug (A) el afluren allsrdab e,

C)  (A)afl, gyemév (R) geugy.

D) (A) peugl, seres (R) el

Consider the following stalements : @

Assertion (A) : Nitrogen plays an important x@m growth, metabolism,
heredity and rcsphnﬁonQ .

Reason (R): 1t suppressed formafl flowers.
Now selecl your answer accnrd% e coding scheme given below :
A)  Both (Al and (R) are d (R} is the correct explanation of (A

B) Both (A} and a:%mue. but (R) is not the correct explanation of (A}

C) {A)is true.l ] is false
D) {A)isfi ut (R} is true.
26, Sfssame cUT&SWkisemnen ;mm‘i'-. :
2mdl (A):  sselalls wasann Ceudlud sbubgliulL uesdilues g
srarsde senfluede o sier Ceasmen FlAlueLu
gredGaing:.
smpemd (R): séelerang Qo faafle: gliey Flevecl Bers Glelsng-
£8p et Peter @il g sflumes aNen_soug Catplla@ :
A) (A)b (R) i sf), (R ererig (A) elpe sfluren allenésib.
Bl (Al (R b sfl. syemmés (R} ssvug (A ol sflurer allonésb 6.
C) (A)efl germré (R) saum.
D) (A pen e (R) sfl.

x[701]
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Consider the [ollowing statemenis !
Assertion (Al : The primary physiological effects of auxin in plants is to
stimulate the ' elongation of cells in shoots ',
Reason (R) : Dormancy of buds can be broken by auxin treatment.
Now select your answer according to the coding scheme given below :
A) Both (A) and (R} are true and (R) is the correc! explanation of (A)
B) Both (A) and (R) are true, but (R] is not the correct explanation of (A)
C] (A} s true, but (R} is false
D)  (Alis false, but (R is true.

27. &piaaton surddlwkisenen Seusdl

28.

ol (A): oo B K sremiuBd wppees Gunmehmetid He Lidams

srlmfadt, Ganwr aamGlemil, séanef @M Slov 2_sfiena.
smeh (R): oL Blen K wreng = wih eNegaet] @i Cardr filieou
pH&EDH.
#3p sHlufl Geren gilfigé sflures ﬁﬂm@ﬁﬁﬁﬁ;@g@ :
A) {A) & (R)ip e, B, 60T 6 (R) ereus g smiwme aillen Hmib.
Bl (A R b sfl, giemd R ageaN\ I alds sflwre ellendsb Bjchsn.

C {A) ofl, syeniés (R} geugy. Q
D) {A) meumy, semmen  (R) Q
Consider the following s &nts :

Assertion (A) @ Gree
of

hles, soyabean oil, tomatoes etc, are chief sources

K
Reason (R) : K prevents erosion of the skin in higher animals.
Now select your answer according to the coding scheme given below :

Al Both (A} and (R) are true and (R} is the correct explanation of (A}

B) ' Both (A) and (R) are true, but (R) is not the correct explanation of (4]
) {4) is true, but (R} is false

D) (Al is false, but (R)is true .

Batiudeansrs Urflseiies sueflinadnL e epl Jgene Flomelufssin Cadase

A gasails B) GangGyrfleu
@) glleGeurdvCunitest D) urrgdGamey Cuntael .
The cell responsible for fixing atmospheric nitrogen In blue green algae is
Al Akinetes B Hetetooysis
C) Aplanospores D) TParthenospores .

: [ Turn over




29.

30.

31.

32.

33.

12

Qamupiud Qurplssis Bnba eerslardy Catbas aadg

Al dlenendmranaudlen Bl  1y.éle.

C) oesecGurbigeffa D] slGurefli&EGage,
The synthesis of glucose from fat is called

Al Glycolysis B} T.CA.

C)  Gluconeogenesis D)  Sapenification .
QY eumLisuseuhBlé srg Clurmssld @éerss 2

A)  eneulLflen A —  Qergiules &eanyudsalg g

B) el 'C — fifld sanrussag g

0 el dflen'H —  fflé sayukeagug

D) emeuli ey 'D —  ffld sengussagug.

Which one of the following is not correctly matche

A)  Vitamin ‘A’ — Fat soluble &

B Vithmin 'C — Water sol

C] Vitamin 'B —_ Wa wble

D)  Vitamin 'D' - we@ luble .

Ay LMl sl syennhgsien @I_LDO

Al sl ued 6 Bl @supdler sugluggl
C) weoendldr suiusd Q D) alppl usd.
Pituitary gland is sltuat@

A)  the neck * Bl  the base of the heart
C)  the base braln D)  the abdemen .

G sasdid i Bippdlenen Glg ClarDadlsnng

A) afGuorgGermdsr B) &éudbler

C) amorglenryefien D) eouGureEerri e,
Red colour to the blood is given by

A) haemoglobin B) albumin

C] gamma globulin D) myoglobin .
Quamegpsarar urelud gemrdlsuimst Geema . QULUESED LRESTDE
A)  UGprhigeiig Gymen B)  ereiug Syr&igoen

C) QLevQLmeusymsn D) syaGLmevengme.
Sexual characters in female are controlled by

Al Progesterone B) Estrogen

C}]  Testosterone - D) Aldosterone .

x[701]




34.

35.

36.

37.
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b setudiiew garag e CuhCorlmbigue sab () ghbe Sesanin
s eoi_W) seul @elsugbel ot
A)  sphespluemy sl Bl Jbhseniy
C]  Qengenemd HeslyY D) @lenl vy sy,
A cross between hybrid and either of any parent ( deminant or recessive) is
callerl
Al Monohybrid cross B} Back cross
C) Tesl cross D) Dihybrid cross .
wmeul epdd @ s Lt sef Gl e Spaflerpri s
Al GenE penisemel i allbg smaurhGHe
Bl o ol Ggani aflb e HmHaTHGH®

@uuu_ Ul

Cl GO smaHn oL @ra® LTﬁ"r'smG-._mFru:
Sl s LB 5 6

D) @ueal plesmst G nﬂ[},#%m@,wm@;@
Identical twins are produced when ¢ O

A)  one sperm |s fertilized with \

B) . one cgg s fertilized with perms )

C) one fertlized egg is "‘& fhto two blastomers and separated

*with two sperms.

arhesis acnetams 47 6 araiu@nD GuTy

(22A + XXY) mri( Hen Gyri) ghuBdldma.
Al QLensmeu sler_Grmbd B Heaerar Queiiey Slen G
Q) Lierien S Coris D e Geut S Cpmb. '

[n human 47 number of chromosomes [ 22A + XXY) is resulted in

Al Down's syndrome B} Klinefelter's syndrome

C]  Turner's syndrome D) Edward's syndrome .

spboms dnta 15 praméss o565 Carlssfiy wEhel Geubelier) ClaTEesiu
Geutm(fio 7

Al O GumedGur Bl w.llwe(DPT)

C) ebeb.gt sOLY o@mbe D Bfae a0y OBES.
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PGEI : 14
Which vaccine should be given (o the newborn within 15 days of birth ?
Al ‘0" Polio B) DPT
C)  MMR vaccine D)  Measles vaccine .

38, ulgud I g ulewd Iz QuirmEd, Gy Gar@aalul. Gerar @O sener s
Gameor@ o flune aflen_emug Baihbls :

U wes T uigwés I
al A .B.O@rip aumsser L miu flet wrhpsdlde o grresmb
bl  waeflar pever augpdens, 2. @iecd usy sy

o ahlt oflaunet Gorevs Cprtt 3. Ldssar B sphaldmel
d)  searalléioms afld) 4. ure pera@N\Buardlas gfenser

GOIDseT :
a b c d ()O

A 4 g8 9 1 \Q ‘
5 5 4 15 O
@ 2z 1 a4 3 &
D) 1 2 3 Q
Match List I with Lis ?I%rrecﬂy and select your answer using the codes given
below :
1 List 11

a AB, d group 1.  Example for point mutation
b}  Bald head in man 2. Dihybrid cross
c) Sickle cell anaemia 3. Multiple alleles
d)  Independent assortment 4.  Sexinfluenced genes
Codes :

a b d
A) 4 3 1
B) 3 4 1 2
¢ 2 1 + 3
D) 1 2 3 4

<[]
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39, dpssammi cursdlutmener seued
i) ADH ereiuigl- sy Gen engpiBur enufledler @mna srddlans.
)  ADH edrug Gleueansumsdldimby aredems.
i)  ADH seug fluCrmeantCurauflels Geha syéddapg.
i) ADH setug Jaflue srodde @ope srédams
#8)p NI Pelien @RS g aflurer aflanemwg CaptinGla@ :

A) () wedmin (i) 8w areneu Bl (i) wl@b sflurerg
C) (il wl @b sPurerg D) (U, () whpid (i) sflurerena.

Constder the following statements

i) ADI1 1s secreted by adenohypophysis

it) ADH is secreted by mfundibulom

i) ADH is secreted by neurchypophysis &
iv)]  ADH is secreted by pineal gland O

of the statements ; ()

A) (i) and (i0) are carrect * i) alone s correct

’\Q! (0, fi) and ftii) are correct .

40. dipsseio aurddlutimens seuedl :
gl (Al allhgEQed @ sodsiuedilld 2458y Cemiblenen

Gl e (Beit
uhereng allhgéOleadles samaflsmals wedu ulie

) ftii} alone is correct

amrawnd (R) @ GClaeig

cudi) \ Y
£Gy Gl Rer R s sflurer aflen.eows CatpGs@ :
A) (A) wppg g gamn

B)  {A)efl gyemé (R) geuny

C)  (Alobmd (R @ren@io #f Coayd (R) sfurer argamiorgh

D)  (Aloppt R @yan® sfl syemd R) sflurer aryembéasme.
Consider the following statements :

Assertion (A) : The sperm contains centriole in the neck.

Reason (R) : Centrioles are important for sperm count.

Now select your answer according to the coding scheme given below :
A) Both (4] and (R} are false

Bj {4} is true, but [R) is false

C) Both (A) and (R} are true and (R) is the correct reason

D)  Both {4) and (R} are true, but (%} is not the correct reason .

; | Turn over
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Gpdurele eilantast splaive urrlsd mowd SrbilssCusen Gaemré
Gamid i
Al Gaomrifl J. wrir B] V. smgrumd

<) C.V. @yyn e D] S S ulenmet .
Credit for starting Space Sctence Research in India goes 1o

A)  HomitJ. BEhaba B) V. Sarabhal

C) C.V. Raman D) S. 5. Bhatnagar .

42. dphacnL qunbdlubhseen geuat :

apd (A @bPuradis Spbs si@uliss algerel sduar srdor  Luard
Gy NanGaefl grmisdasnn, Lalldidr srHp et sughghld
menphe Clumaps afibgaliiog.

smpeomip (R) : ofanGeshl syprsfbsebilan aadigsien diamdr apg

Lirdldanul Balll . g.
d#8p el Getrer Gl g aflurar alleewd NCIE0

A (Awpph (R) sfluraresuude ()

B) {A) eflwresg. (R) g flwurengéuss .

C) (A wpob (R eflurereniu wbpibe e allen ST @D
D) (A) whpio (R eflurereancy, (R) aflwren sflemdamndicy.

Consider the following stateme

Assertion (A): The spac ¢ in which Kalpana Chawla, the Indian born
entist travelled, when reentered into the Earth

pace shuttle had the nose cap (made of ceramics}
ed.

Reason (R} :

Now select the cdrrect answer according to the coding scheme given below :
Al (A) and (R} are not correct
B) (A) is corTect, but (R) is not correct

) (Al and (R} axe uurfect. and (R} is the correct explanation

Dl {A} and (R} are correct, but (R) is niot the correct explanation.
Fpsean b g efiude

QUL Grrey &7 S EADTRN HRLILSTS '

A) sy Geerasl féserdpg

B} eabplup Gp& Swebu@sng

Q) steewr Soe berfiaés » zafing

D) selu gsg SLEUUGEEEDE.
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47,

o X7 PGEI
Which of the following is not correct ?
Mixing of alcohol with petrol
A) saves foreign exchange
B] iz ecofriendly
)  supporls sugar industry
[))  prevents the possibility of adulteration.
dpdaan_auppst ahs BTG yCreflud GaflauBsbaime Qe iU ug ?
A) sygun B @evGre
C) e Dl Gaer@arflur.
Uranjum enrichment is concerned-with
A)  Cuba B)  Israel

¢) Iran Dj S@(orﬁx.

LbpGEmD erdlitiy Cewsdiner 2w g;rrm%a’

A dEen . @

C) Case 0 Ppmlens.
The plant which possesses 'antlQ@nus aclivity is

A)  Seetha \'Q B) Polyalthia

ki 1g &l damib

C) Teak : D) Murungat.
‘st 2 pubsifle SELHID SLSUTD ‘P sumT’

A) srftamevd B #yedatafiur
C)  eufGemflun D}  &meutur.

The marine algae commercially exploited for the production of ‘agar’ 1s

A) Sargassum B) Gracilaria
. C) Laminaria D) Caulerpa.
EpHurallé el &v psdwsde senflgssiu’ @ sflalssiule e b
Al 1932 B) 1986
C) 1990 D) 1992
In India AIDS was first reported in
A) 1932 BJ 1986
C) 1990 D) 1992




PGHI 18
48, o ulifluey  Mlyeert et Gablurg o @@k g;i)sur J-mem  @he mrerTs
Qleras_nGdlament .

Al 2 a6 i pren B) o es shpe Gfpe mre

Cl e em sarsry flpysue mT el D) 2 e wésd Carans miTeTr,
Bivlogists celebrate every year 5th June as

A) Werld Water Day B)  World Environment Day
C)  W.H.O. Day D) World Population Day.

49, dereumbd UL kisslls ag wrenengelr, priset, oo ehis s & Flusupenné GOl Ang 7
Which of the fo g diagrams correctly represents elephants, dogs and
animals?
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B1.

52,

53.

.18 PGHKI
a=bX b=cl ¢c=a%aafld ayz en gl eer 3
A1 B0
ey -1 D) @lesau srgeyillesame.
lfa=bX b=cY c=aZ thenxyzis equal to
A) 1 B 4]
cl -l D)  Noenc of these.
sHGUIE sTURE Bysuegdlen ar Gourd ) ouflard
Al  Plé Gleweorent
Bl @bl el cukdllish grenem oy @mmt

C) Qurgsarudim Gpehkle meneveurt @
> 3

m.&tig.e alleét geneueur.

The Controller of Insurance Is at present 9
A)  Finance Secretary . 10 eputy Governor, RBI
C)  Chairman, GIC Chairman, IRDA.

Geaalartiseilen saalfpn oyl ?

sHEUrE mriger Clorgs &_ﬁ?&@% sierafles whflu whmpo wrfle sydd

A) 5% A B) 17%

C 24% D)  30%.

Al present the ¢ iture on Government (both Central and State) as a
percentage of GD

Al 5% Bj 17%

Cl  24% D} 30%,

@idurale oyer Gl Sipoy efflaa (2001 - b sycin@® Lsief) aflauriiueg. ) etiug
2 eaiteng 2

Al 235 B] 829
C) 833 D)} 830
The sex ratio of India as per 2001 Census was

A) 935 Bl 929
C] 933 D) 930.

:w [ Turn over
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56.

B7.

58.

20

@phegiiles Gmoy s @enars sier brHleld g 2

A sdliperd B) Lﬁﬁé]lj‘dﬁlg’-’gﬁ.&ﬁ
C) Gogenr D) waHuilyCaen.
The state which has the lowest record of Infant Mortality Rale is
A) Tamil Nadu B) Ultar Pradesh
Cl Kerala D) Madhya Pradesh .
___________ eremTLRUt @1ha 4w Heneueut
Al aGeusmenheih B)  surmadblggt
C)  curénds D) @,
__was Hindu religious leader.
A) Vivekananda B} Vara tra
C)  Valmiki D) T I
stteuBps Nl s ag ()
Al 2001 & ’20{13
Q) 2004 ' ’\ ) 2005,
Which is the Internalional Year 7

Al 2001 Q B) 2003

C) 2004 \'Q D) 2005

Glbal LR saveilen et

Al aeu sy syt B) sedugmiighs puisTh

C) wd. 8§ D w5 G& om B el .

The founder of the Newspaper , The Hindu was

A) 5. Subramania lyer B} Kasturi Ranga lyengar
C} 5. Satyamurty D) T. K. Madhavan.

elrmiilu spsssla o aen Sereumd prassila ez werm UmmEETel (peomenl
ghné Berererciléssnen 1

A)  dyrers B grdflerhg(U.K)

Cl Qgﬁmm’ﬂ D) euGhulle.

Which of the [ollowing countries of the European Union has not adopted the
single currency Euro ?

A)  France B 1LK.

C] Germany nj  Spain.
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61.

62.

21 PGRI

" Big Egos, Small Men " eefip Usessos & apslweut w2

A)  mydlibogrel Bl  pud Gegwsore
) Garel Gﬁsrr[ru_ggl D w.oen. Coad .
Who has written the book ~ Big Egos, Small Men " ?

A) Narasimha Rao Bj Ram Jethmalani
C)  Soli Sorabjee D) T.N. Seshan .

93 - aug eyuesmoliy Fmgai allur £0Ug
A) wibdhfl semuidle ey
B)  anpdhsliuili et s e e e gl enemwib

C)  @phengehho e s L mudmadl

D) ewhadaiilis G o560 . O@

93 red Consttutional Amendment deals with

A)  size of the ministry Q .
B)  separate commission for SC » O
C) compulsory education for the @ en

D) reservation in higher ed

WTO et GR&sS5DE g cubdle) g sfurer allfleurésd ¢
Al zews genl HeENe o Bl o s sut&ss plipeuerid

C) wes Gurml w Blrysuemn D) eas Cursganss Blneleaib.

Al World Textile Organisation B} World Trade Organisation
€] World Trusteeship Organisation D)  World Transport Organisation.

shis erasss Burs qédlu FienpopesssT aETLE

1  erGaflulgen

) wegEmy

iiij ef&EGLH

iv)”  surFLTD.

) R
A (). .0ppio (iv) Bl (). (.opm (i)
C) L ()ohmps (v) D) (i) LD .

% [ Tum over
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64,

65.

22
The important parts during the Sangam Age were 7
i) Kaveripattinam

if) Madurai

iii}  Arikamedu
vl Kapatapuram
v} Musiri
of these
Al (1).{11}) and (iv] B)  (iL.{4) and (iif)
C) {1}, (1) and (v) "D (if) only .
sHCuregy whacamalldr Qurds e nldlatastian o e B,

A) 545 oy uSlenrramen ) @ﬁﬂmﬂ'&eﬁ
C) 565 o piudlentaen et melr .
Al present the maximum strength of I}%

A) 545 members 0 555 members

C) 565 members 575 members .

weflg o flamngsel Hlemd o
B grer 100 Gpdl
&1 D) webut 100 Gadl .

A glge 100 Gs
C) (sl (b
Human Rights Day is cbserved en

A} April 10th B) June 10th

C)  September 10th D) December 10th

FCp e aiier aps SLsdle waD L dAse shaLTEGD 2

A)  Qissmemeor B) gEorlwsisug
C) aaeilurgof D) grégesy .

In which of the following places three oceans merge together ?
A) Chennai B] Rameshwaram
C) © Kannivakumari D) Tuticorin .

x 701
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23 PGRI

e I ulgque Do e Quresdl, #Cp Garhasiud Gerer @liiHaamans
Qeren® sflurer afeLows CarpOs@ :

uligue I U gwe I

a)  Lnpd senns il snaeniisst Cpmfibsrena 1) &eur el
b Errgpe eyrmiéd enowb 2) QUi et
¢ Bpdu ararGeuefl gurmisd Heewun 3) Hlinsd)
d  siguedd 4) S0 &I ITLIT
G SHest :

a b c d
A) 4 3 1 2
B) 3 4 1 2 @
c) 2 3 4 1 0
D) 3 4 2 1. ()

*
Match List I with List II correctly an&t your answer using the codes given
*

below : \
List I 60 List II

a)  Bharat Heavy Elec 1. Kalpakkam
b) Defence Research Ty 2. Bangalore
cl Indian Space asch Organisation 3. Trichy
d)  AtmoicP t 4, Hyderabad.
Codes :

a b c d
A) 4 3 1 2
B) 3 4 1 2
c 2 3 4 1
D) 3 4 2 1.
Spsatapper og srsaseule Bdoa 7
Al @reruer Gigrfiberane Bl eg§ Garflherea
C)  siggubler Beewid D) sl Blaeuw.
Which of the following is not situated in Tuticorin ?
Al Chemiecal industry B)  Fertilizer industry
C) Nuclear power station D)  Thermal power station.

X | Turn over
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69,

24

CipbGausiiy.dr @ar.fufng sar

A)  fHlevssfl B) ﬂ‘laﬁrsrrrria
C)  wuply plasaf D) wflur
Which of the following is not related to Neyveli ?
A Coal B)  Electricity
C)  Lignite D) Urea.
utgquwer T gp ulgque IMe Len Gurmsdl, G GlarHestucGerer @iNuTEssmer s
Qeneaa@ sfurer allaneng Cath@a@ :
U igwes I Ui I1

a) QUITG Y 1D 1. sy Gaamaldars
b)) amGais i 2. g e SU T &
c) Gmbe, (D 3. aNCLZINNGaanauba s
d) @IpL g ek wh 4, s d@l G G
@PliG e : \Q *

a b c d ‘ O
A 8 1 2 4 \
B 4 3 9 1 Q6
C =2 10
o >
Match List I with correctly and select your answer using the codes given
below

List II

aj Banana tree 1. Ornamental purpose
b) Acacia tree 2. Festival purpose
cl Teak tree 3. TFuel purpose
d) Polyalthia tree 4. Timber purpose.
Codes :

a b c d
A) 3 1 2
B)] 4 3 2 1
Cl 2 3 4 1
D) 1 2 3 q
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73.
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25 PGEI

sflpETigd “bEhesl HTOTE G Afsmssg uvrpbuflu wapde
LILESTU[RSS0LIED DESHE STaTD )

A it (67D B) o&

C) GCeuby D) dprblpasl.

Traditional medicinal plant used for the treatment ol 'Jaundice’ in Tamil Nadu
is

A)  Mango B) Arasu

Q) Vembu D]_ Keelanalll.

Ledmenw sifljp Gemeniemw sofldimbs S flaslle ahpomes afleurseil et
LT pamOysT e allliuc g ?

Ay sl B) yed

C) @l D) cw}@

What were the animals found in the most of l@c enl forts for protection ?

A l.ion ger

C) Horse Crocodile.

wﬂgza.;i:;{lm ahd wraul L HHid &-nw%\x@mgﬂmu LI6) & emen | p D ayeminhgleiean g
A) e B) Gamubysgmt

Q) Slmad Q Glgeneman .

Where is the Veteri l}&; rsity in Tamil Nadu located 7

A Madural B) Coimbatore

C) Trichy D) Chennal,

LpbiSe@erio SRED ... sreu L s48l6 o cheng.

A)  Gudlwrr Bl Gamubysgmt

C)] eem’ig D) &mi.

Parambikulam project is located In ......... district .

A)  Periyar : B] Coimbatore

C]  Ooty D) Karur

STHEEEGY ... 5@ dyHsdl CLpps

A)  evills 2 7H GQgrfiperese B) @EphY sdug eme

0  spbelub Qgmfipsres D) @uidrs smel siemese .
Tuticorin is famous for

Al Spic Fertilizer Industry B) Iron and Steel Industry
C) Aluminium Indusiry ) Machine Tool Industry.

¥ | 701 | Turn over
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75. Camgen Speyeme sbloysn Hluwend Qelpg sos alerfiiugphers

Al sflpssdla grils sl

B)  Garubydart eesnpliaug iy

Q) plpesde sdpgmedd gpflonoy JITiLsHE
D) @en agoflaema.

Gokula Krishnan Commission was appoeinted to probe Into
Al caste clashes in Tamil Nadu

H) coimbatore blast

)  study the Dalit's situation in ‘Tamil Nadu

D) none of these
76. ungs gt allmeg Gubn e pillips appesenind st @

Al C.N. sycdmcammaen] B) M@m&smqm

c)  C.gregGsnurerdant] S,

The first Tamil Nadu Chiel Minister to I)GQded Bharat Ratna Is

A) C.N. Annadural B) M.G. Ramachandran
C) . Rajagopalachart QQ Baktavatchalam.
77.  sbprmige ousryr Sl - Teul L GHl6 B cheng.
A) Eeeuid B Gt
C) ﬂmﬂrﬂ D) seafurgofl.
The Pykara Scheme of Tamil Nadu is in .......... district.
A)  Salem B} Periyar
C)  Nilgiri D)  Kannivakumari.
78. e shp Cafluandl ureurys aanp Gesdiu Fgsliamamu GleusfigicLmet.
A} snmoeciu g B slroewtu Seur
(o) QTR WY D) eflal esu. gud.
Which Tamil nationalist published a literary magazme called "Bala Bhara
ﬁ] Subramanya Bharati B) Subramanya Siva
Q) V.O.C. Dl V.V.S. lyer.

«[701
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79. uvligue I & ulgue Ia & GlurmsEl, i'f@ls[fl QErRes’in’ Rerer @hluiReesen s
Qaren (@ sflurer allaswg Sethbligd :

Ul igwes I uigwe 11

a)  ulgenlurdsl 1. srenes Bmy Femi
b)  wmeyTurésb 2. auflofib
) it T fadh Ty 3. wrene Crpy S
d) eeehemg 4,  sLpssoird Ugdl
@HuHeetr

a b c d
AN 203 | 4
B) 2 4 1 3
€y 3 1 2 4 @
D) 4 3 2 L ()O

Match List I with List II correctly and Your answer using the codes given

List I (’)\O List T1

al]  Pattinapakkam Q 1. The momning bazar

b) Maruvurpakkam 2. The resldential area
¢) - Nalangadi \v 3. The evening bazar

below

i) Allangadi ’ 4. Coastal area with its harbour.
Codes 1.
a [ d
A 2 1 4
B 2 1 3
¢ 3 2 4
Dy 4 3 2 1.
80. ApCreGeud nran 1 sCms T S ad uTyrd LHCETome GEluluLLTT 7
A afl.all sreiy, gt B] eurgél gut
C) eleen. faflaurs smevgif D) eau. Saflours muksmi.
Who assassinaled Ashe, the District Collector of Tirunelveli ?
Al VV.S lyer B) Vanchi lyer
)  V.S. Srinivasa Sasiry | D} 5. Srinlvasa lyengar.
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28
@)\t emeoiieiT aiiLEd) Hpse Cupsis sidle Lyaume Qlarampeian s 7
A) @y Epounse B)  =ysusurDd @mmmmm
C)  wugpsml @ounans D) Gpursi @)uwuwnens.
Which part of the Himalayas has the maximum stretch from east to west ?
Al Kumaun Himalayas B}  Assam Himalayas

C) Punjab Himalayas Y Nepal Himalayas.

B2, dipéeeton et Bk enen seuel

el (A): RSy SrBasnmeild wak Glenes 04 @il SE0HDs.
aremnd (R) @ Sibls wenpi Qurplay, @ee vhdloa SisHas Qe sogyiln el
&Gy @HILOI Geirer eff gé sflurer ofle b Gat :

A) (A)wpgin (R} efl, (R) erdiugl (A) el aﬂmu@w&&mn@m.
B) (A)wpguid (R) &l (R) @eug (Al mﬂﬁ)w odlendablvemen.
C) (A efl gyeames (R)saig. * o

D) (A peup syerd (R) efl, 6 \

Consider the following stateme,

Assertion (A} :  Solls tn hymNJopical reglons lack humus,
>

tation causes leaching of humus.

Reason (R) : Heavy
Now select your from the coding scheme given below :
Al Both (A} an are true and (R} Is the correct explanation of (A}

B) Both (A} and (R) are true, but (R} is not the correct explanation of (A)
C)  {A)is true, but (R is [alse

D) (A} is false, but (R}is true.

srsurTalpsi , alpdu pansed @ Cu L SUp 98

A) Gsnameuf B)] &aols

Cc)  gud : D] mEwgr.

Which of the following river flows between the Satpuras and the Vindhyas ?
A)  Godavarl B) Gandak

) Taptl Nl Narmada:
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Qi wefbgh CuTatgded B Gu 2 der aamastGard

A) el etonstiufé G Bl wow ..1},.’?5'_ Gar@

C) guren’ Csi@ D) 1Teuz Gemesor Gang.

The boundary between Germany and Poland is called

A} Hindeberg Line B} Maginot Line
C) Durand Line D} 17t Parallel,
SEDETUTE Beoh ysmohmerer pdl ...,

A)  aufring B werpdl

C)  etBemmgt D) ErGeaufl.

Ahmedabad town I8 located on the river

A} Sabarmali B) aci

C)  Gangotri 8] erl,

NIFE' ereip Ligib @Bliug) .

Al el oflisd ’\OE] cefliflen o afr oyenotiy

C)  uedilier CuGerrd D) &LHufens.

The term 'NIFE refers Lo QQ

Al Earthquakes \

€}  Crust of the ¢ D]  Ocean floor.
EbEIu sLpeen arib

A 7516 B} 75005 4l.£
C) 7000 &8 DI 6100 8.
The length of India’s coast line is about

A) 75166 km Bl 7500.5 km
C) 7000 km D) B100 km.

pEbHUILIL TS aaipne: aae 7
)  Coidequelsear paésliu’L sTESM
& &8

Bl Gar e urPausplea gasalull srisst

B]  Core of the earth

0 Goitsoe alfss araflu furs 2 uBurflés QE&sULLL STHesT

D)  weoesurp whesflen uwdurighbleer Ga&slulL srpse,

«|701)
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59.

. D)

90,

30

What is meant by ‘reserved forest' ?
Al Aforest reserved exclusively for grazing
B) A lforest reserved for hunting
Cl  Aforest reserved for commercial exploitation with restrictions on grazing
D) - Aforest reserved for the use of tribal people.
bnéaildls oy tiuem did wrfleismer gpafamsdd Sj@wbsab (2001) :
1) @iflygn 2} 2 jflyngrec
3)  H&do 4 @urageusmer,
@S Hee :
A) 3 2 4 1
B) 1 3 2 4 @
C) 2 1 3 4 ()o

3 1 2 4 .
Arrange the states in ascending order Imtt& sex ratio (2001) :
1) Tripura @ Uttaranchal
3)  Sikkim 4] Rajasthan.
Codes : QQ
A 3B 2 4 1 S'
Bj 1 3 2
c] 2 1 4
D) 3 1 : 3
upudlenar SiglmLuras Qeran( Carféstury wrflebsame @ohe aflasde
S{EMLDEEaYD
1) eupdlidp@pein
2 egs
3)  damt
4)  sEverd.
@ERaen :
A1 2 3 4
B) 2 3 1 4
Ccl 2 4 1 3
17 i 3 4.
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Arrange the following states in descending order on the basis of area :

1)  Andhra Pradesh
2)  Gujarat

3) Bihar

4) Assan.

Codes :

A 1 2 3 4 ’
Bl 2 a 1 4

& 2 4 1 3

D) 1 3 px 4.

91, ulywd I g ulgue Moo GurEsd, #C8p Qarpasiul Gerer GiliRHamems
Qeran® sfluren alle_saug CarbGig® :

uligwe I U gues TI

a)  Gmeml 1) are LRG0
b) gt b1 i el 2) i &) in
c) @ufﬂn"_Lq.é:{Em 3, Carhmio
d) Elutié 410 Conw cusmaslum
GHEPas : 6

a b e d Q
o o3 14 Y
B) 1 2 3 S'
C) 2 3 4
D 4 1 3.
Match List I wi st II chrrﬁcﬂy and select your answer using the codes given
below :

List I List II

a) Kant 1), climatic classification
b]  Thornthwaite 2) cycle of erosion
¢)  Whittlesey 3) origin of the earth
d) Penck 4] agricultural typology.
Codes :

a b C d
Al 3 1 4 2
B) L 2 3 4
C] 2 3 4 1
D) 4 1 2 3
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92. FpbecoL aurddlulseea sousf
o pdl (A): Cplew wppd erddl Glenea @}Uw@&rﬁﬂuﬂﬂ wenevilled
Demendlpg.

smyeend (R): @lo uiliteet clamergguéei glralpuorer sryadiast
Croarupdips .

8 efn Geter @flfige sfiurer aloLmus Catb@s

A) (Al opgd (R} &,

B) (A wpps R efl. (R} adwug (A)alhe sflurer aflenésbldmen,
C) (A) el syemmey (R seugy.

D) (A gy yerme (R) el

Consider the following statements : @
Assertion (A) : Tea and coffee are both grown in@ tgirl hills.

Reason (R) : Both crops need similar mndltgﬂ for growth.
*
Now select your answer according to m@g scheme given below :
* F

A)  {A)and (R) are True. \
B) Both (A) and (R) are true, E is not the correct explanation of (A)

C) {A) i1s true, but (R} 1s £
D) {A) 1s false, but (R) s the,

93. «ps Caflu Cpfdsr syremeauyd (phesusmuyb EGeaambdlns.

A) NHI1 B)] NH7
C) NH3 D} NHS5.
Which National Highway connects Agra and Mumbal ?
A} NH 1 B] NH7
) NH 3 D} HMNHB5,

94. sitauBse Lgliule Gaream miiu@o sraef
Al ECGLrut 8 B) Qelouf 8
C) @eysau_ 8 D} wsbuf 8.
International Literacy Day is celebrated on
A)  October 8 B) September 8
C) August8 D) December 8.

H!?’Bl!
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9%.  Ehdurale dlelupsnourea aeimGiemi &gflatliiurens

Al guDITELLy W B) dl&umil

C)  unrket D] Gmradlen.

The oldest oil refinery of India is

A)  Haldia B]  Digbol

C) Barauni D) Cochin,
96, Glacrenaniles el uthées o maursdlustser gl Careyd LHQID - -

A BTEUERTL B] s&wb

) Gumreurley D) .8 .

Tidal Park in Chennal was formed by TIDCO and

A)  Elcot B) Sathy

C) Polarls D) TCS
07. Gpef) wraiLb wgey wreulL SdliEbel (i 3 @ sl

A) 1996 4997

c) 1998 . @ 1999,

Theni district was bifurcated from on

A 1996 B) 1997

C) 1998 Q D) 1994,
98, ulgué I g ulgue II ﬁm QuImaE), 3 Giar@aniu’ Persn PG enen s

Glarets(® efiume afl & CatiCa® :

uigues I uCgue I
FITSTRATR oraus b

a) GouLharhuace 1)  senemayt

h)  sen&aEr(H 2) fedlfl

o whersd 3 AEonsGud

dl auley 4)  smgFlyrh

iR

a b d

Al 4 2 3 1

Bl 4 3 l 2

C) 2 3 1 4

By B B -
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Matlch List I with List II correctly and select your answer using the codes given

below :
List I List IT
Sanctuaries Districts
a) Vedanthangal 1)  Tanjore
b3 Kalakadu 2] Nilgini
c) Mukurthi 31 Tirunelvell
d) Vadur 4] Kancheepuram
Codes :
a b c d
Al 4 g 3 |
B) d 3 1 2 @
C) 2 3 1 4 O
13 a 2 1 1. 9
99, gblpmrige stwyfl oral o b @abhe Qu DG

Al dhlnemen ()\3} et &
C) somemoysecs @)miby ETE-

Dharmapuri district Is knau@Q . in Tamil Nadu .

A) Granite B Quartz
C)  Limestone D)  Iron ore.
100, sblpmm g el G pdlu oy seuGunt () esrtufeug eg
A Eaeulh _ B) sarafumgof
C) FmGpeEael D] srisdEs.
Which is the Seuth Indian Oxford of Tamil Nadu ?
Al Salem B) Kanniyvakumari
C) Tirurnelveli D) Tuticorin.
101. @assr apenn wrgré SflepeEluBRalUL Sl ?
A umdeLies Bl gbus
C)  Gepben D) sensder dég.
The igladari system was introduced by
A) Balban B) Albek
C)  litutmish D) Alauddin Khilji.
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102. Slemaumsuemaubniel arg eflurs Curphsaldane 7

Al me S&hemeaib —  mesman Glprifliberene
B) uepw shETeud —  giflyd surpians
C]  ydlu shemed —  fHopar wrpsoms
D) Gaibldeneuld —  waoey wpusd dlae.

Which of the following is wrongly maiched ?

A) Mesolithic period —  Microlithic industry
B)  Paleolithic period —  Wandering life

C)  Neolithic period —  Settled i

D)  Chalcolithic period —  Food deuciug slage,

*
103. eralmeusmeuppuel ag &b n1rrsxagg:§1969$1@ @) ddlemmmaila” e erenmdlugy

(Eieuemen 7 ()\
A)  Bleomibe ooy Q6 B) glurerd

C) mplewe \ D) alfzeoe .
Which one of the follovgy 8oes not belong (o the ‘Three Ratnas' of Jainism 7
A) Full Knowl E] Meditation
C] Goodac D)  Liberation,
104. Semeugsueutaefies wirt posig e’ L Guoens wipt (Reeile sabs Gemeisuf 7
A) 0 sy, sibGUEETHT
B) &b erib: mrenedwr.
Cl b Gs. snpd
D) &l ereny; Eedlleuns srevdlfl .
Who of the [ollowing atiended all the three Round Table Conferences ?
A} B.R. Ambedkar B) M.M. Malaviya

C) M.E. Gandhi B V.5. Srinfvasa Sastri.
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105. gymher galutiss ahs sassme cdlassdpg 2

Al (B DT ED B] wsrurrshn

C)  ughempding D)  @resr sageen .
Which stories were explained in Ajanta Paintings ?

A)  Ramayana B} Mahabharata

C) Pancha Tantram D] Jataka stories,

106. @hgluralihe pGrmilutaefian amesau sflura wpapds afamelu®ssa :
A)  Curresdflut, Lssdnngt, gubdlGaut, G e sy
B)  Cémasmrt, gadlGeuwnt, Guriébaddlut, OCreadammt
C  gndlGeowt, Lésdanyt, NQreasaryt, Gunﬁﬁmﬁ

D) SGyesadenyt, Gurréaddiun, o hdlGouwit QQ 2ot .

Identify the correct order in which Europeans to India.

A)  Portuguese, Dutch, English, I"rencho ’
B)  Dutch, English, Portuguese, Fre @
C)  English, Duteh, French, Pa f-\
B)  French, Portuguese, E , Dulch,
107, ulgue T o ulgué IIs Qurmsdl. 8 Qar@asiul@siter @PliBamers

Qareds® aflursn allen & Gaiblbla® :

U ig wes ulgwes II
(e T Lien_Liy) (ClerLifuyent wg)

al Fr&siroLesmLnl&san 1}  @Elenpuge
k) euTEy il ST 2 GeErrasb
¢) sdeaundl allysn 3) Hessb
d)  sryps alysr 4) ysseLpg Clol CumEetlud
@Puipeet :

a b c d
A 2 1 3 4
Bl 3 4 2 1
) 3 1 4 2
D 4 3 2 1.
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Match List I with List II correctly and select your answer using the codes given
below :

List I List II

Works of Mahayana Dealing With
) Sadharmapundarika 1) divine grace
b) Vajrachedika 2] heaven
c) Sukhavat vyuha 3] conduct
d)  Karanda vyuha 4) metaphysics
Codes ;

a b c
Al 2 1 3 4 0@
B 3 4 2 1 @)
o 3 1 4 2 \Q .

Epsmain eundbdlumsaer seued]

giemtly (A): ypgewwb a:ﬁmr%f;@n'_mf_ ghmié Geretersilsvane.
argend (R) 1 upgewun HIrpeNRaoranc ghns Glarersralsame,
G @il Pefer @i ;nﬂu_-nsrsr alle_ows CatrGad :

Al (Aluppd (R)
Bl (A)wppib

C (A) af) gyermey (R) @eugy.
D) (Al geuny e (R) afl.

Dy 4 3 2 1 O
o

sreiiug (A) el sflurer allendain
fl. (R eshium (A) b sfluren aleréaiflsene

Consider the following statements :

Assertion {A) : Buddhism does notl accept the theory of Karma.

Reason (R] : It does not accept the existence of permanent self,

Now seleci your answer according to the coding scheme given below :

A) Both {A) and (R) are true and (R} is the correct explanation of (A)

Bl  Both {A)and (R) are true, but (R) is not the correct explanation of (A)

C) (A} is true, but (R} is false
) {A] is false, but (R} is true.
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109.

110,

111.

112.

38

gweurburer sflédlysems erapSlusut

Al Geugprusis Uleiener Bl  al&f

C) greb Subwt D} Fleusdsil).

Kamalambal Chariiram was written by

A)  Vedanayakam Pillai B) Lakshmi

Cl  Rajam lyer D}  Sivashankari.
el G eneenill erp it

A)  Glgmésmilud B) &t

C) Genulsraigssh D) fasenes anfgenmt .
Manimekalal was written by

A)  Tolkapplyar B) Ka

C) Elangoadigal | D) .‘ﬁ)lal Sattanar,
@eso.min @Cenpbgitis Campefie wHGip @1;

A) shens Ganan Gempen é) ahigih gailtsgs Gamper

C)  dlmbl seor Gompen 6 D) apioopy Qe Gamper,
Kulothunga Il was also call

4A)  Gangaikonda Cho ’s' B) Sungam Thavirtha Chola
) Erimikanta C D)  Mummudi konda Chola.
SletmeumeusmeuppHig el ubhill CsuCrdflu prafan slhdlnsaaidama 7
Al Qumér wppo Gleustal Bl GQsiy

€  Qeaamse Dl @by

Which one of the following is not known to Mesopotamian civilization 7
Al Giold and Sliver B) Copper
C) Bronze D) Ironm.

. &g swllauel] praifaidlan ' sadrse

A) LU LSS

Bl sy suednesin Y fu Slady ol saass
C) s @hdlu LeTueTiLTET SHUL WL seaETsa
D) e - Slawny Bip wl e,
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The pottlery of Indus Valley Civilization is

A Grey ware B)

C)  Northern black polished ware Dl
114, peussllgne surpgeng Carppeisgart wurt 2

N CeBandly mrp B)
C) Gaséu spdlpnOea D)
Who was the founder of Navavidhan Samaj ?
A) Devendra Nath B
C) Keshav Chandra Sen D)
115, gpgev Sy peurgmingdlilen @uisgent wrt 2
Al pemenult . pmen el B)
C) SQuirmaen D)

Who was the first Director of Archacol ﬂp}

o\

A) Dr. Hultz

C) Fergusson

PGEI

Black on red ware

Black and red ware.

medesr apdlym gl
Ul.endl, wEemnsTt |

Navin Chandra Rai
P.C. Majumdar .

3G
<

Alexander Cunningham

adonit sedrentibigmir o

Marshall .

116, @hdluraléd @mibenu @ﬁm@ﬂ@&uu@gﬂumr}mm

A ey flutaet \' B) dlpralrimer
C) urpfatmel ¢ D) =&Quflurser .
Iren was first in in India by

A)  Aryans B) Dravidians
&) Persians D) Sumerians.

117,

S ey urrrepoapsdhe Cart@sfasiulL apad @RSt wrt 7

£l gyt mmen
seuanieure GHS .

C.R. Das

Jawaharlal Nehru.

Sl SEnw

Elensy e S0 .

A)  grerurih QEerCrrgl B)
Cl ey #. urem gl D)
‘Who was ihe first Indian, elected for the British Parllament ?
A Dadabhai Naoroji El
C] - W.C. Bonnerjee D)
118. &g s prafss afid fplussdeann 2 @l LETS STeOTiUC LGl 7
A mag FiLLfiBed B}
C) emselenan Di
«[701]
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The Indus Valley Civilization was specialised in

A) town planning B) architecture
C) craltsmanship p)  all of these.
119, 8lpe swblest w&ssT S @eraaiuL ehs Glalapand euamtradlarmi el 7
A)  GYbdlyen B]  sumcooned
C) ey D) @eoen agepbldame.
Which God was worshipped by the Indus Valley people ?
A) Indra B] Varuna
C) Vishnu Dl None of them.

120. Sipgy swGiouef whnel TH Quin et Emée b @smg,@\:

A Gorglemn B) u =1®
ol
*

C) Geusfefl
The Indius Valley people imported fmm’
Al wheat () wine
C)  siiver &~ D) sk
121, o EreILIG Sl B0CIEuST] u@' apsdlu & amey
A yfldl \v B Gergenw
C) Eemerl : D) @by.
.......... was the p %ood of the Indus Valley people.
A] Rice B] Wheat
C) Corn D)  Millets.
122, Lsdie_dere bHHSSHDS0 utdl ehg Caushdles saplu Betens ?
A) Mé Geugl B) emoSaglh
C) wgrt Gaugb D} . =sieue Geuslh
The earliest mention of medicine occurs in which of the following Vedas ?
A}  Rigveda B) Samveda
) Yajurveda D) Atharvaveda.

123. sy élywhsst e arpboadid HTEG Blanamel ahEs HTa UGS OIS
sueTtadluen_paEl ¢
A CapbsEnse WhPu sTed B Ma Gous arwd

c) Onflu Gaup Hred D)  @eupnis o gapdidumen .

«[761]
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125,

126.

127.

3 | PGEI
Ashrams or four stages of life came to be well established during which period 7
A) Pre - Vedic perlod Bl Rigvedic period
C) Later - Vedic period D]  None of these.
fé Geupddld sana oy Rdlysiarg 7
A)  ursphsefler Glemmliy
B) smgsa nhpb Glapaseiia Qgm@iy
C) weBeuy i Haeflen euflenswrean Gligrgiy
D)  whkdlghsst whpbh stgseid Slareiy .
What does the Rigveda contain ?
A)  Collection of prayers
B) Collection of storles and events
C) Collection of a chronological sequence of dyr&
D)  Collection of magic rituals. ()
Fpsaain afhs Heturiy dere %ﬂmﬁm@&;.ﬁﬂmﬂé&ﬁuur_nﬂmmw.

N

A uspdlavgmesn AP e aflevgTer

C)  uners (.b Cuing v flridg@gseh .

Which among the following geo cal areas was not inhabited by the early
Aryans 7

A) Baluchistan S” B] Eastern Afghanislan

C) Punjab D)  Fringes of Western Uttar Pradesh.
Lsaflen &gl 3 BUTHSEEAE Sqlue. sTFerh

Al Gamrulb B @&ae

C)  Glugmemn D} gy .

The root cause for all sufferings of mankind according to the preaching of
Buddha is

A} anger Bl  lust

C) pride D} desire,
fé Geug &re whsalldr 2ugliien,. sapsemoly sgl ?
A)  mnl ggliEs GHbuD

Bl shos sdlee GHbUD

C) g i flbs @HbUD vhpb shos AHEs SPDUL
D) @eeu agaybidme .

x[701] | Turn over




PGKI I 432
The basic social organisation of the Rigvedic people was
Al Matriarchal family
Bl Patriarchal family
¢  Both Matriarchal and Patriarchal families
D) None of these.
128, sis @esdiun sagsiu’ . Guwmgpl
Al o B &flp
C) ol D)  eeuwTerDd .
Sangam literature was written in
A) Avadhi B) Tamil
C)  Matthil D) Mala@n
129, whdlmones Hry' TEQ SeuiGn LT ames m@gﬂulmo
A)  dpapet B gﬂm&fm ithg

C)  sadmem i & Sism et gy funi |

"Mandiram Avathu Neeru" the song ’m' tten by

A)  Thirumoolar 6 | Gnana Sambandar
; ‘ Mangayarkaraslyar.

C) Hannappar 8]
1:30). Lgbene Lhat eur el @L‘uﬁjﬂjﬁl&g sgalemiash 2
A mpeopi Bl 4gs wsb
) @p;,g] (D& D) em&a LHD.
The Pallava rul
A)  Jainism B] DBuddhism
C) ITinduism D)  Shaivism.

lieved in

131. Qevraumeiarandié sese afluns QuTmhEalidens 2

A) SIODTEE SUITLI L SET — Art. 16

Bl &powniy e flamn — AL 19

Cl  aurpéome whinid ssHET s flemn — Art. 22

D) &g erdlnnen 2 flanio — Art. 24.

Which of the following is incorrectly matched ?

A} Equality of opportunity — Art. 16
159] Right lo association — Art. 19
C) Right to protection of lile and liberty = Art 22
D)  Right against exploitation — Art. 24,

« 701
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g qpen BbEu siyflueeniy sCLsfls weoET SHEEILCLS ?

A)  Gn Yo Bl & wop -

C)  ppeiim (pEmD D) Almiaiin alldeme .

How many times the preamble of the Constitution of india has been amended ?
A) Onece Bl Twice

) Thrice D) Never.

uCguée I g utgue Mo Ldé Gurppdl. £Gyp Gar@aatiuc@es @SR & enen &

Qarein® sfure eflen. enup Corplls® -

uliguen I uligue II
a)  @genntucnl] palennuinm s 1l GeudGloevell
b @geowiueiurend Gatplls@ine 2) gm:.J@
¢ @yeotiuaiiurers Liliha) 3) .ﬁrr@) aflev
d) @l ausmalLRHEe 4) galfr.m(}?-su
e Hes : 3 O
a b c d o\
AN 2 3 4 ] %)
B) 3 4 1 2 QQ
c) 4 3 2 1 \,
o) 1 2 3 3 1
Matech List 1 with Li rrectly and select your answer using the codes given
below :
List I List I1
a) Modernisation of civil service 11 Wellesley
b Recrultment of civil servants 2] Atckison
c) Training of civil servants 3] Cornwallis
d) Classification of civil service 4]  Macaulay
Codes :
a ¢ d
A) 2 4 1
B) 3 4 1 ]
) 4 3 2 1
By 4. 2 ‘3 4
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134.

135.

136.

137.

=4
gL e Seyendlallen Lgﬁtﬂmﬁéaﬂﬁ sanalbms aEb@ Sl GoDUs smLrg 7
A) 50 B 25
c) 40 D) 30,
The strength of Legislative Council members shall not be less than
A B0 Bj 25
C) 40 D) '30.
Gihdlu sy Hueansty sl sfla Qnmasy faan wpen GupUUC g
A)  @ibdlu oertsm sl Lb, 1935 efimhe
B) USSR efleblimha
C)  USAIimba @
D)  Qgrws Glauiint sygfusenoiy sl sd 3
The emergency provisions of the Canswn of India was borrowed from

A)  Government of India Act, 1935\03
C) USA %() D)
@bshu snl Ll d g G, Q

4) gohdlomamhg s L‘&

*

USSR

Welmar Constitution of Germany.

B 2 _comemowmen salL Tl

B (- D} CupseanL sgabldame .

Al centralised federation B]  pure federation
C) decentralised federation D)  none of these.
UPSC & sy Gaily uewtldley sang) uend) g

A)  Gafrey Bl fluwerd

C) snemeilasd D}  usiwigse .

The final work of UPSC in recruitment process is

A)  selection B)  appointment

C)  certification D]  placement.

* [7o1]
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@bdlu o dlwesennliy sl sdlé 206 suflariy Gpdloon Garlumlia
Gsftdasa Brndah

Al wésaniél sperissos epduBsmse

B) pe @ SiOnsse

O  pellpGarflen surpéams srdams s wisgase

D} eusllewura wifle sysrisgos ghuRsasd .

Directive Principles of State Policy were incorporated in the Constitution with a

view Lo

A). ensure Democralic Government

B) establish Welfare Staie

C)  raise the living standard of weaker secﬂunO@

D)  provide a strong State Government. 9

ugha TGS TTH Semoliyse Biflsare g GlimLug

A)  ooeheant eufl %() B Gerésg sufl
D) #piy eufl ,

C)  eyaris B
Panchayal Ra| instituti n‘%md for funds mainly on

Al Local taxes B)  Property laxes

C) Governno® NAances D) Specdial taxes.

aps oyl waeed pasers plsssiidar groran Utyrenamsgie Gl

EUMLILIL L 87
A) 1960 B] 1963
C) 1964 D)  1967.

In which year for the [irst time was no-confidence motion moved in the

Parliament ?
A) 1960 B) 1963

C) 18964 D) 1867,
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141 un._;qluéa I g ulgquwés Iz L G‘rurr@g,gﬁ £Cp Qar@ssiiul Hefrer Sl Hseners,
G‘taarrm@ shlurer el somws CartGa®

UCig e I uCigwes II
a)  @yurs soeafla Bfans sElsmn 1) Article 56
bl  @suurs sesesufler ugalarenn 2) Article 55
c)  @uwrs geveeut Catsd 3)  Article 61
d) egwre soent upall dasn 4) Article 53

5) Article 54

@Gl Msef 1

a b c d
A) q 1 5 3 0@
B 4 2 1 5 @)
© 4 1 2 3 \Q :

i 0

(B 4 5 3 2
Match List I with List II correc & select your answer using the codes given
below :

List I Liat I1

a) Executive auth nf the President 1) Article 56

b} Tenure of esident 2)  Article 65

c) Election of the President 3] Article 61
d) Impeachment of the President 4) Article 53
5] Article 54
Codes :
a b ( d
Al 4 1 o 3
B) 4 2 1 5
C) 4 1 2 3
D 4 5 3 2

% |20
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142. Jeneupasrsupenp aflens Ajovvrs Qsrean® euTa

A)  CBIl, ESMA, SSC, CAT B] ESMA, CBI, CAT, S5C
C) CAT, 35C, ESMA, CBI D}  CBI, CAT, SSC, ESMA .
Arrange the following items in chronological order :

A) CBI, ESMA, SS8C, CAT B) ESMA, CBI, CAT, SsC
C) CAT, SSC, ESMA, CBI D)  CBI, CAT, SSC, ESMA ,

143, uvtgue T g ulgud Deod Curesd), #Gp Carfssiu Gero @illiGeeend
Qaren® aflures aflen_mwg CathGip®

Ul g I uCiguen 11
al  oidlu Ul gud 1) eppaiuée #lib wppd aflapsan
b)  wrfle uligud 2)  urgeng
¢ Gurgulguée 3) G&uv@p@&.ﬁm whHpd &reud

GPlipssh : A
& | AY

e . o
N 3 N
B 2 1 3 6
g 2 3 1 QQ
Dy 3 2 1 ’s'
Malch List I with correctly and select your answer using the codes given
below :
st 1 List O
a) Union List 1} Criminal law and procedure
h) State List 2) Defence
¢] - Concurrent List 3]  Public order and police
Codes !
a b (4
A) 1 2 3
B2 1 3
C) 2 1
D) 3 2 1
2 [ Turn over
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144. yglu saells Carsiens 10 + 2 + 3 papew Sflyaiudsius.

A Ol igely @mdlur B) aradlyEy

C)  dluw.e D) 2@.edos .
New Education Scheme 10 + 2 + 3 was introduced by

A) British India E] Congress

C) DMK ) AIADMEK.

145. app oawp Gges @hdlu e e flow shab ghuRGsILC L 7

Al 1914 B) 1915

C) 1916 ) 1917,

In which year was South Indian Liberal Federalion formed ?
A) 1914 B) 19

'‘C) 1916 D)

146. 1974 -b @0 athg wrBles SyTamhsb wrrgﬁlwglrn‘_&"l gturerdens

*
Qe i Reub g Q

*

A)  mbap sneyulit \OB] Samt
C) o pdlnilrGeen

6 Dl sblpmr@. _
In the year 1974, which & following Governments passed state autonomy
resolution ?

A) Jammu and BJ Bihar

Cj Uttar Prai D)  Tamil Nadu.
147. gblpogsdlen g8 grewsur 2. gnSe el

A) 12 Bl 14

C) 16 D 18

The total strength of Rajya Sabha in Tamil Nadu is

A 12 B) 14

C) 16 D) 18.

148. gilflpmicgé gasaals Al sos sfivpaliuBsduet urt 7
Al Eorgng B} @orusmd
C)  smogrs D} Qouedgm .




49 PGEI
Who was introduced the Kulakallavi Scheme in Tamil Nadu ?
A)  Rajaji B) Ramaswamy
C)  Kamaraj D) Jaya.lah-l.haa.
149, gbl{pmir 146 LTyTEhoeED gl Qar@daer aeuneney o siarar ?
A) 4 Qgredles B) 5 Qgredles
C) 6 Qarsdlest D) @eoa egeydlémma
How many reserved Parlimentary constituencies are there in Tamil Nadu ?
M) 4 B) 5
C) 6 D)  None of these.
150. 1926- b &0 '
A fhles 8 wphfl soue sewbsE
B ofle @bflu sy a1 Sl wrmr® dflés manL Gluhms
Q) gonelen bl awrgl Lggiflses G\@cuuﬁn_@

Dl G agebldmen. . O
&)

In the year 1926 6
A)  Justice Party formed 1 @str}r
B) Al India Congress a&; was held in Madras

C) Dravidian Ta ]:.l;.-' was started
D) None of th
151, usasin Y& &t

Al 1960 - i sya wiglle B  1950-ib s widhilé

mE S HeuTeTgE ?

C) 1970 -ib oo widiile D) 1980 -b i@ wiSlll.
The Green Revolution came on the scene around

A)  mid 1960 B] mid 1950

) mid 1970 D} mid 1980.

152, wosstEras QUBSHD G e bEse sTyesil. BT e wrHpb gHURHDE 7

A) ELb Guwised B) dif 2 sal
C) Gummennary euatés D) Ges agabdome.
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153.

154.

155.

156.

5o
Demographic pressure acts as a push factor in
Al migration B)  finaneial assistance
C} efc:-numic growth D) none of these,

Lma i @lgrgn. Cp. G damewr gensanollleorar aufl wrhfluenoliy Gap eriGumg
|OHELII L G 1

A) 2 e, 1990 Bl Gl _burt, 1992
C) Smaul, 1991 l:)] sroent, 1993,

Dr. Raja J.Chelliah Tax Reforms Committee was set up in

A)  August, 1990 B]  September, 1992
) August, 1991 D] June, 1983.
yilw Spmfliben st £ o soGumg L{E}n:n&am‘.n®?

Al greme, 1991 D) . 1992

Cl  eslumur, 1996 o goaauf] 1994
When was the New Industrial Policys &ced ?

A) July, 1991 \ June, 19892

C)  October, 1996 Q January, 1994,

sugemioufiein Blapay ublu elleurhiset s1liug serddLlLRHng 1

Al e sey, (NASNS alagias - Cadlu samsgmer
B)  actn.aeu.a@g\N.5.5) ystefl efleurdisetr - buetum’ @ Qleeayser
C) (A uhnND) 21élu Gratr@in

D)  @eme argephiémen,

The incidence ol poverty can be computed from

A) NAS data on national accounts

B]  NSS data on consumption of expenditure

C)  Both (A) and (B}

) None of these.,

nefls shnGwe Bhss eas ursrd euCurg e Oubps: 7
Al 1970 B] 1872

C) 1981 D) 1985
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The World Conference on Human Environment was held on
A) 1970 B) 1872
C) 1981 D) 1985.
167. bHFu wresslGourl@ arflud abs 2 and EmnésiulLg 7
A) 1989 B) 1985
C} 1981 D) 1991.
The Central Pollution Control Board was set up in the year
A) 19849 B) 1985
C) 1981 D) 1991.
158. cuen elflevki@ urgsriyd Silb ehs tgicﬁur@ B (REUTHBULCL & 7

Al 1970 19?@

C) 1990

The Wild Life Protection Act was formul g& year
Al 1970 . @ 1972

C) 1990 1986.

159, ﬂ-lﬂwl}!'rl.l.q.é) 2001-b Q;mqu@%ﬁﬁ@;rmm G H@UILY ThHS WTeUl LD Ble
&6 TEE & e wg 7

Al sensiiurgof B fmeusigpaut
Cl  sLgyi D) Ceugyntt.
In Tamil Nad istrict with highest density of population

is {as per 2001 Census)
A) Kanniyakumari . B} Thiruvalluvar
C) Cuddalore D) Vellore.
160. Gndu serald gllpad nhsabaraadd aps Fawndlds 2 semg 7

Al syprb @b B) apspmd @)Lk
C) L&STh @b D) @isTh @LLb.
In population among the all states in India, Tamil Nadu occupies the
A)  sixth position B}  third position
C) tenth position D) fifth position.
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161.

162.

163.

164.

165.

52

asiflpsggen wasaGETens, 20010 Sicnf seRThGUUE aaausTa ?

Al 62.4 Bleelue Bl  60.3 dleseSlus

C) 64.4 (Hléuedlein D) 61.5 Aéetiudr.

The population of Tamil Nadu was {as per 2001 census]

A)  62.4 million B)  60.3 million

C) &4.4 million D} 61.5 million.

@ndlur serellé sBlpen aopppdialies abs Hleoeullds o ereng ?

A) pEDILIITID @b B gprb @b

C)  uflepeipri @b D) uggrd GLb.

In literacy among the all states in India, Tamil Nadu occuples which position 7
A)  Ninth position B)  Seventh position

C)  Thirteenth position D]  Tenth 1.

(YA (E;l,ﬁ‘lu.r sl Bmey sutiflenw Glgr fis ahp mﬂ@umﬂﬁ Glaugg
A)  poélibwer sblilyg BQ.’ . @eyGrr sbllig
C) @bdu s’ Boey sbllg . ghisgrasn sy

Which committee has recommended Q)\Labliqhment of National Co-operative
Bank of India ?

A) Narasimhan Committes Q AM. Khusro Commitlee
u tiee Rangarajan Committee.

C) Indian Co-operative

glpé, 1935 @hglu fs eﬂ Glg.n_n,smqu_lﬁurrg_ Sipen (waelif (Capital)

A) 15 Gamg B) b5 Gang

) 10 Gamg D) 7Gsny.

The RBI was inaugurated in April 1935 with a share capital of
A 15 crores Bi 5 crores

C} 10 crores D) 7 crores.

UTI - GgrLisur, i@

Al dogeufl, 1974 B dogeufl, 1964
C) &, 1970 ' D) ga&ibut, 1960 .
The UTI was formally established in

A)  February, 1974 B) February, 1964
C) March, 1970 D) December, 1960.
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166. s ﬂl.;gﬁlem genemsdll L bre e Sadlusr HNompgadr il

Clam malul L &7 :

Al pest g subled b

B}  evaupen Qgupdl fyme svalrrget Hiio

C) Ggflu dlgroiyp Ceuser eurdity i

D) Geueme eurbiny o gdlreursd FCL b

The Million Wells Scheme was launched as a sub-scheme for

A)  Jawahar Gram Samriddhi Yojana

B)  Swarna Jayantl Gram Swarojgar Yojana

C)  National Rural Employment Programme

D)  Employment Guarantee Scheme.

167. Lréit L.C. glgr @ atg Gawudum e e pers Hludldeliu’ g 7
A ulBdsheng B) QWLE_TL@#. sbQueflsmer
C  cels aubidssh \@ * D Poeuaniiseies auertsdl,
Dr. L.C. Gupta Committee was appc;\Q to look into the working of
A)  Stock exchange 6 B) Insurance companies
C) Commercial banks D]  Development finance institution.

168. @pdu gamdludl, @hd weseninliy sLgdlein ey Uflaller &p Mflssapana
AT A& *
A)  Sifley 320 B) ifle 280
C) Uifley 35 D) Al 325.

Under which Provision of the Article of the Constitution, the President is
required (o appoint Finance Commission 7

A)  Article 320 B)  Article 280
C) Article 356 D) Article 325,

169. wrfles Giemifles Sriumub wreny s st & 2 sherg 7 .
A) s e pflodp FAUF B] =245 pgludp gaamin BHlud
C) o whr pdusp plugl D) wraull Qsayeray dglugfl.
The industrial tribunals are consisted of a person of the rank of
A} Supreme Court Judge B]  Chief Justice of Supreme Court
C)  High Court Judge D)  Sessions Court Judge.
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170. @hlunales Guyeney Camfiperoasdis Blaad LpmouTeTE

171,

172

173.

Al @Gy aske Cprfibsrae B) ussd s Qanfiperon
C) samé Ggmfiherame D) srdlg Qamfiherae.

The oldest large scale industry in India is

A) Iron and steel industry B) Cotton textile industry

c) Jute industry D)  Paper industry.

Sipg sw@iauet) praflsgde ganaps pojb og ?

A Gerggen B) sreflubiser

C) ol D) Guragsesr@rr .

Which was the port town of the Indus Valley Civillzation ?

A Lothal B) mw@
C) Ropar D) Mo@ ro.
RaGaig seréaryhdle apbhlu Sy dluefiiy .

A g - shead LTSS HE R OQ
B]  ugpen whpib el U g 6 \

C)  Sps uehenpETHS

D) Sha oppi aersiDe CL usd
' The main focus of the ¢ Yulture was

A} the Indo-Gange ey

B) the Punjab elhl region

C) the Indus Valley
D) the region between the Swat and the Indus.

fpbaao QTsHURSEET aeuef :
mpny (A): fend 19058 amerersans dflgart
sirgewns (R):  Sef Caflu ghpemcou syfes algbienmt
£Cyp GPILI - Geren RS g é sflurer alloLmus Cetalis® :
A (A R b el Reaug (A) Sipe efiurar allsTés.
B) (A sfl syeme (R peup.
c (A)k ® b sfl. ggeme (R) aaiug (A) eSpe sflures allerébal S,
D) (A whpd (R) Gl Heuprerenal.
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175.

o

Consider the following statements :
Assertion (A) :  Curzon partitioned Bengal in 1905
Reason (R) He wanted to destory nationalistic unity.
Now select your answer according to the coding scheme given below :
A Both (A) and (R] are correct and (R) is the correct explanation of (A)
B) (A} ls correct, but (R) is wrong.
C}  Both (Aj and (R) are correct , but (R) Is not the correct explanation of (A)
D) Both {A) and (R) are wrong.
dpéeetorL eunbdlummener g oef)
afpl (A): weumedr sounk gotest syt an wﬁiﬂa@rmuraﬁl@@ auhE T,

amgeoond (R): sweuflen wédlu Crrésb Lse 2 CuPetemen urtamaull Goedor@in

aauBs. Q .
Gy @Rl Geren @Bl g e sflumen K@mmg Catp@ip® :
Al {A)D (R) b efl. (Rl ereug (A) [
B) (Alib (R) b &), gyeniré ug (A) efitye sflurer S dan e,
) we ST {PU;E:G’%
D) (4 ubmi R) Gy
Consider the fall

wren ellendan,

2 sl ereney.

Assertion (A) : en Tsang came India during Harsha's rule.

Reason (R):  His main objective was to visit Buddhist shrines.

Now select your answer according to the eoding scheme given bclmu:r I

A Both (A} and (R) are correct and (R) is the correct explanation of (4)

B) Both (A} and (R} are correct, but {(R) is not the correct explanation of (4}
C) (A} is correct, but (R} is wrong

D)  Both {A) and (R} are correct .

By eThond' erapdlug w2

A) gualkdlomrd sret B) u&din stdly s&Garifumur

C) spdist D}  vzmse phem.
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Who wrote " Ananda Math' ?
A) Rabindranath Tagore
B) Bankim Chandra Chattopadhyaya
C) Aurobindo
D) Madhusudan Dulla.
176. uCigwéd I @ utgué Mo Gurmsdl, £Gp Can@aaiufefrer @B (5 e eoen &
Garamn sfure aleewg Catpbls® -

L g ey X uligue IO
sy pesaartsd Bl qpl g stior@id

a) ot & &0 1) swsruTg 1888
15) IR, ¢ Y0 T o0 2)  waGar 1899
c) S| Gluaein 3 sdaséer 1917
d)  sGprghlefl pry® 4)  srenyt A28 .
@B O&

@ b c d ()
Al 2 3 4 1 .
B) 1 2 3 4 . OQ
C) 1 3 4 2 \
3} 2 4 3 1. 6
Match List I with List II r@% and seleet your answer using the codes given
below :

- List II
Pre of Congress Place and Year

al George 1)- Allahabad, 1888
bl Dr. R.C. Dutta 2) Lucknow, 1899
cl Anrie Besant 3] Calcutta, 1917
d) Sarujini Naidu 4) EKanpur, 1928.
Codes :

a b c d
A) 3 4 1
B 1 2 3 4
& 1 3 4 2
D) 2 4 3 I;
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177. syudAGautser shsEhoLL Spuwbd @idluralés ghu@ss wrfli sguoglemuls

Glubmentt 1
A) Sugh Lt B) sgapradt
C) egT@aTe D) epenqhiamdl

The British received permission to establish their company in India from
A)  Akbar B)  Jahangir
C) Shahjahan D)  Aurangzeb.

178. ‘Qaenf Qeenyr sbusubd ati@uraps Baphsgl 7 '

A) 1920 B) 1923

Cy 1922 D) 1921
When did the 'Chaurl Chaura’ incident take place ? @
A) 1920 . B)

C) 1922 1921,

179. sie sragdde Gurt sdlaliy seeg :J?a‘u
Al uenseusileh unens 0T HDE G‘l%g} :

B ussasuedlan alleuku®sensaT %éa

C) uvenmeuailen Garleani &LLhmys e
*
D) wremenilen e seuailen Llitmenen oyflsm.
During the Sanga ' war was usually declared or provoked by

A) cutting (h™utelary tree of the enemy

B) lifting the cattle of the enemy

)  besieging the enemy's fort

D)  crushing the crops of the enemy’s territory under the feet of elephants.

180. Gt grev werpasmy sUGUTARE 2 meuTaslUL L g 1

A) 1883 Bl 1882
C)] 1884 D) 1886.
When was the Madras Mahajana Sabha formed ?

Al 1883 B) 1882
C) 1884 D) 1886.
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181. Spsacn_obfle ag faab QUIGESSLTES ?

A yGamer SUEHLLT(H — cremonfifams g UL W sllsuid
Bl Q@rof susmslur(® — sregbigrLt alleuyb
C) oaonoxidams uemasiium® — usd alleunib
D) &0 susm&Lun(m — sl mihdly alleugh .
Which one of the following is correctly matched ?
A)  Geographical classification —  Value based data
B)  Chronological classification —  Time series data
Cl Quantitative classification —  Area wise data
M Qualitative classification —  Yearly dala.

182, dpaoamcupdles erg flasé sflurarg 7
A)  Guuhi e — siplsems surfly
B) Gamuré — el amé&@
) Garfleulmt —_ GuT eI e%&af@
D) esGlavd - L g &

Which one of the following is correctly @md ?
A)  FORTRAN \ a text

B) COBOL —_ athematical ealculations
C) WORDSTAR ,@ Business ealculations
D)  EXCEL D Tabulation.
183. uliywé T g ulqu L Qurssdl, #08p Ger@astul@sisr eliGamens
Glanam({ sflures s Caikblel
LI g ul swes II

al e Ganaun bl 1)  sesud Caafiuueut
b)  pse Hleves yehehl alflaur 2) a&aud amueult
o e s e 3]  saas Geafliy
d) (B0 55 GTDT i 4] (e SRR .
@i :

a b C d
A) 1 2 3 4
B) 2 3 4 1
C) 1 3 2 -4
D) 2 + | 3.
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Match List I with List II correctly and selecl your answer using the codes given
below : .

List I List 11
a) Respondents 1) Person collecting inlormation
b) Primary data 2)  Person giving Information
c) Enumerator 3) Collection of data
d) Census 4) First hand information
Codes :
a b c d
A) 1 2 3 4 @
B 2 3 4 1 0
c 1 3 2 + 9
A
D 2 4 1 3. . o

184. PA) = 0.6 nppis PB) = 0.5, erafléy @ s eubmueh g aflumeongl 7

Al Auwppib B gifluer afley fpeyssi
B) Auwhpo B ﬁa‘ﬂum\? Blapays et
C) Auwvpphd By T ST Blspeaygel

D) @emeu & e .

A) A and Bare mutuallly exclusive events
B) A and B are not mutuallly exclusive events
C) A and B are complementary events

D} None of these.

185, 10 @b 30 &gl G Cu 2o U&T sreBn Eel G HRENET 1

A7 B 4
C) b5 D] 6.
How many prime numbers are there in between 10 and 30 7
Al 7 B) 4
C) 5 D] 6.
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186. sefelllle gn fGauraul. uhpb o Guar au’ wontu aaheé solb
A} 1000 evulseh whpun 100 SGamanul sefr |
Bl 1024 enul st whmbs 1000 flGerau set
Cl 1000 s selr whmbd 10000 enLi’ sef
D) 1024 emun’ el whmpd 100 SGeuremul s
In computers, 1kB and 1MB are respectively equal to
A) 1000 bytes and 100 kilobytes
B) 1024 bytes and 1000 kilobytes
C) 1000 bytes and 10000 bytes

D) 1024 bytes and 100 kilobytes.
187. Avppic Benr Quorgs auwg shGurg 110. Gmu e apeny seut saflen

ouwg alflsh 4 : 3 aafld: Adr auug

A 60 &B
Q) 50 ’\ 35.

The sum of the ages of A and B I?Q 110 years and their ages 20 years ago
were In the ratio of 4 : 3, The Is

A) 60 \' B) 55

*

Cl 50 D) 35.

188. x= al-y Wibph L aedfles X 1 Y ! Z GG BWIDTET Gl
A) 1:4:5 B) 4:1:5
C) T+614 D) 1:4:20.

Ifx= iya.ncly= 51 z then x:y:zis equal to

A) 1+4:5 E) 4:1:5
C) l:B5a4 D) 1:4:20,

189. ppsirpy suglifleyeter wremeut sefler alldlsorag 2 : 3! 5 o6 2 ereng. qaGeaurt
cugllepn 40 vrematsa siflsflaah Cury alldlsurarg 4 : 5: 7 oys wrlyaterg
aaflés Guaurs Gurgs wremeatssild & samsuras)

A) 100 B) 180
c) 200 D) 400.
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192.
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‘The students in threc classes are in.the ratio 2 : 3 : 5. If 40 students are

increased in each class, the ratio changes to 4 : § : 7. Originally, the total

number of students was

Al 100 B) 180

Cl 200 D) 400.
Seireumeueneuppiet ahsGeTSg) sflurs QUTEESADH ?

A) 1235 - wir il

B GOD — wmHiedl

C) A+B — Canitenl

D) A+50 — sieradiué wrledl.

Which one of the [ollowing is correcty matched ? @

A 1235 - vartable C )y

B GOD - Co

) A+ DB = ; salon

D) A+50 -_ %Lag}ra\ constant.

100 - &@ib, 120 - H6ih @sgu\' N s umn 6 msetle sa[@a LTy 7
A) 424 . B) 533

C) 648 D) 650.

What is the f all prime numbers between 100 and 120 7
A) 424 B) 533

C)] bh4B8 D) 650.

| 3 GODSHILLL daeaufié 21, 28, 36, 45 S EuaipHTa Fddlendl eauguED
Aadgaphy oo UTE

Al 420 El 1257

C) 1260 D) 1263,

The smallest number which when diminished by 3 is divisible by 21, 28, 36 and
45 is

A) 420 B 1257
C) 1260 D) 1263.
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193.

194,

195,

196.

x|7||]l

62
apstiy srameailen alldlsnusst 35 55 : 77, ssupPler BLGuE GurgssTrest 24
arefley et aat WTenea 7
A) 420, 660, 924 B) 280, 44(&1. 616
C) 840, 1320, 1848 D) 106, 1656, 231.
The ratio of three numbers is 35 : 56 : 77 and their HCF is 24, Then the
numbers are
A) 420, 660, Y24 Bl 280, 440, 616
C) 840, 1320, 1848 ) 105, 165, 231,

FH au@uiles 60 wremeutaet o senant. syhdlagdle 75% wreaoeutsst Ggutéd
Glupalldene. 45% wrasautast sflafludls Catddl GQupalldme seafld @edmim
unLiusetign Gaitéd Quprs wramartast aggemear Gut 7

LY B 6

C) 8 D) 12. 0®

There are 60 students In a class, In an exanﬂn@,n 75% of them had failed In
English and 45% of them had fajled in S e« How many had falled both in
English and Science ? .

g KN

C) 8 Q@ D) 12,

P& Phe LeT e sellen a@u 3 7

A) 5.0 . B] B2
C) 5.6 D) 6.0
The average of five prime numbers is

A)  B.OD B) 5.2
C) 5.6 Dl 8.0

4% st (§ ol afpgdld Qrand aumpohseild 0.1,352 558 sou Cigreansull
wElly adar 7

A) 1300 epuind Bl 1200 epumi
C) 1250 smumil D) 1260 esumd.

A sum ameunts to Rs. 1,352 in 2 years at 4% compound interest. The sum is
Al Rs. 1,300 B} Rs. 1.200

C) Rs. 1,250 D} K= 1.260.
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197. gy ULG Flenure [Bie: weflae 15 8.8 Casgfle Grandipg. waflag 3 £
Caspdlies FOrmeLn 2 eters eafle 12 Pl assilea HErriL Flanslld L@
Glacveuianig Ll ETHD

A) 3.6 dlaf Bl 24448

c) L1568 D) 1.8&lf.

The speed of a boat In still water is 15 km/hr and the speed of current is
3 km/hr. The distance travelled downstream In 12 minutes is

A) 3.6 km B)] 2.4km

) 1.5 km 13 1.8 km,

198, samenfery Guré shsd 19 oLAG ol whpo Gsiy 9 bUBE
coLymLwy selé gonafogl Guré 1 Nhw s ueter Galalw
s Canshseens Catgg e meursdlu Lﬁmna@muﬁ‘lé} @hs 2-Gonahise ahi
aldlasdler GEheb 1 N
A 1:2 . O’; 2:3
C) 3192 6\03 197 135.

Gold is 19 times as heavy %r and copper is 9 times as heavy as water. The
ratio, in which the two r@ should be mixed, so that the mixture Is 15 Umes

as heavy as water, is S
A) 122 B) 2:3
C) 3:2 D 19 : 135.

199. @ Gomaswu 3 g ansesd, 4 fpatsesns 8 prisdla wpyliurtsd. G
CGamwmou 4 siansgh 4 fpatsed 6 priseld wgourtser aaflée 2
semead 4 fgateamh sy appame EL safld ap Ot est 7

Al 10 mrlsel B] 12 mrl sai
C] 15 mirl &elr D] 16 pmoseT .

If 3 men and 4 boys can do a work in 8 days while 4 men and 4 boys can do that
work in 6 days, then 2 men and 4 boys will finish it in

Al 10 davs B} 12 days

C) 15 days )] 16 days.
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200. Gy wrdiflurer Qsudur@smed @sursn@ &GP sriulFeren ULt of ) gyeiram
a@mse Gildsiulird all@ul L eredor wrg?

6 3
1 5 5 3
131 ?
4 B 7 1
3 )
A C
A) 320 BE) 274
C) 262 D) 132.
If same patterns of operations are followed in all e diagrams given below,
then the missing number Is ()
ACX
g O /s
. 5 2 0 5 3
L
131 ) Q 248
3 T)\ &4 | 8 7 1
3 6 9
B C
A) 320 B] 274
o 262 ' D 132
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